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He is slaughtering an item which is - VIR FORT KDY ANIT INOON
forbidden to benefit from, but not the owner’s

Overview

The X723 asked why does 7°&n ' obligate the ' "7 payment when he was 1"v2 vmw.
Seemingly as soon as there was a slight act of v’ nw, the animal became X172 7OX
(for it was offered 1"¥9), and when he completes the nv nw, it is no longer the
owner’s.! MooIn discusses the need to consider it YWy 717 X2, and the reason n'"A
maintains here that a 70 W 7AW 7RI 7IRW 70NW.

n1voIN asks:
= 20NYP NI4T XDT RNYL Y NNDI 9NN ON)

And if you will say; but why do we need the reason that he is not slaughtering

the owner’s animal, in order to exempt him from 'm '7 -
- 3N)7 NAYYA 99¥2 TNANT ANSA0 DT PNT Y DI

You can exempt him from "M '7 because this is not considered 7153w, for he is

merely cutting earth; mooin proves this -
= SHINVUN AYIY 29N N9 AAYY YINA NAYA NNVN VNIYN 23) (ow) “ONIYNA )9P9INTD

As the X 1) states in ¥mw P75 regarding one who (inadvertently) is vmw a j27p

NV on Naw, outside the 771y, for an 'y, he is liable for three nXwm offerings -
- 8991 ATAYY XNND NVINYWA DIDRT XIN 9942 THNN 29MHY XY 7§IN SVINYN 475999

And the X773 asks, he should not be liable to bring a nXur for the sin of Y1 SwInw
since he is merely cutting earth, for with the slight nick for ''y he made it
prohibited -

MB0IN answers:

It is assumed that making even the slightest nick in the animal makes it 1"y n21pn which is 78372 708, However, the
arn of 'M "7 is when there was a proper v’ nw (which means cutting the 217 of both 0°11°0), and at that time it does not
belong to the owner, since it is X172 TOX.
2 wnwp 77 K77 indicates that a 7w nw is taking place, however he is not W the owner’s animal, since it is 0K
NI,
3 mpoIn claims that there is no 7Y NY taking place, for once it is X172 MOK, it loses its status as (meat of) an animal,
and it is considered as if he is merely cutting earth, but not slaughtering an animal.
AR,0 7m.
3> One for Nawa A nw, a second for Y7 VW, and a third for 1"¥» mONW.
63 7y ow.
7 yn 0w refers to the prohibition of slaughtering a 1277 outside the 71y.
8 See footnote # 3. It seems from that X3 that once he was X719 72 vnw for 1"y, the remaining act is not A7 2V/AVNWY,
but merely 75¥ 7nrn, so why did the X773 not say here that he is merely 75v2 Tnnn.
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- 1044313 SN HNDY TN S¥2T DIV KYN 7599 KY 3 ONNT Y U
And one can say that there too, the X712 does not ask that he is 75v2 nnn, since it
was 1"v2 vnwi, but rather the real difficulty is that in order to be 2>n for i “vInw,

the 1277 must be fit to be brought into the 7¥ %78 nno -
= 19 DN NNAY AN RY 1IN NN NVINYWA NIDNIT 1)

And since it became forbidden 7X172 with this slight 7wsnw, it is no longer fit to
be brought to the 7v1 %18 7D and therefore not liable for yi “vINw.

nvoIN asks:
= HAVP D997 IND 293 NIV DI XN NAVH NINIYT INDT 793 NI 9NN ON)

And if you will say; but what of it that he was not 721 the owner’s animal, since

by every case of 1731, he is not 12 the owner’s animal, and nevertheless he is '72 21
'm. Mmoo explains -
= 1Yyn »oWa NP XN N2 VNY YINT

For by every n2w, when he is umw a little bit, he acquires the animal by the
change that he caused through his action —

N1D0IN answers:
- 793 PNPY AU NPY YN KT 919 U

And one can say that this (the small nick) is not considered a wy» 1w that he

should acquire it with this act. However, when he was 1"¥% vmw, it certainly does not belong
to the owner anymore, for it is 713772 7OK.

° The 770 writes in 7-3,7 (CI0X) RIP>1 that P wmes WK IR 73002 17 9% 2P X W vog? WK PRI D230 WK WO A
We derive from the 2’105 that the 21 of Y1 *vnw is only if it can be brought as a 1277 into the Ty 778 nno.
10 mooin is answering that when the 8723 there referred to it as 19v2 Tnmn; it did not mean that since it is AR MOK, it
is considered 19¥2 nnn (as alluded to in footnote # 3); rather the reason it is considered like 79v2 nnn, is because in
order to qualify for the MoK of Y7 *vINW it must be fitting to brought in the 771y (79 21X nND), as a 127p, only then if
it is 7YY v vrwa is it considered YN *vnw. However, this animal is not fit to be brought into the 71y, since wnw:
XN719 1YY it is X172 MK (and cannot be brought as a 1217), therefore the X3 claims that there should be no 211 for
Y vInw, but rather consider it as if w313 nmA. [One may still ask, why did the X7n3 there use the term of 75y nmn
(even though it meant 791 MR N2 "X R), and here the X713 chose to say v nwp 717 82 (and did not say nnn
79y3). However, that would be merely a question of semantics, but not a contradiction of concepts.]
1A thief must return the article which he stole, if it is intact as he stole it. However, if he changed it (he stole wood
and made it into a closet) the thief may keep the closet (he must of course pay back for the wood he stole). He acquired
the closet mwyn "wa. Here too by making this slight v nw he is making it into a 79°23/779°70 (see R,2? 1711). He should
be mnp it, so it is no longer the owner’s, and nevertheless he is '™ '72 2»n. This seemingly proves that one is 72 2’11
'M even if by the end of the 7w nw it does not belong to the owner. Why does the X773 ask v nwp mon7 w2?!
12 The animal basically did not change; it was an ox before and it is an ox now. It therefore still belongs to the owner,
so he was 1121 the owner’s animal. A Twyn "W requires a (drastic) name change, like the case of the wood and closet
(in footnote # 11).
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nvoN asks:
= NI 2»N1NT 9NN 2297 NAYL YNNI 9NN ON)

And if you will say, what is the reason that »''1 holds him liable here for 'm '7

(even though it is a 7"X7 AIXW AV NW; one may not eat from it) -
= BAnNg NVINY SPa NDT 1399NND 1297 RNYV YIDN (0w x,na 91 pon) BTN DD P93 RN

For in 2777 :19°5 795 the X713 explains the reason of »2''9 that he does not require

a 7MINT WA by the prohibition of 112 NRY 1NN -
- 13310 »r0INYN NVINY 90T DIVN

For he derives it through a mw 77°713 with the word wsnw from Y77 SwInw -
- 17157 NAL MAVN ¥NN%AVN NVINY 1937 PRI NVINYN NVINY 13747

For it is preferable to derive 7w nw from 7w, than to derive 7w snw from 7792w

from the ?09 of 397 maw maw (which is written by 70 and his brothers). This is

understandable regarding 112 NXY 1N -
—1¥Hnav) 29N57 NON YaN

However here (by '™ '7) where y723w1 is written -
= 19A05NWN NNV 4927 INNPN NNAVN NNAL P9V 4717 1D PN NAIIN

On the contrary it is preferable to derive 7m2w (of "M '7) from 72w (of 7O,
which was a 7X1 v nw), for they are the same words, rather than deriving 752w
(of "M '7) from VIR (of vIN *vINW, a IR APRY "0 nw) which are different words!

N190IN answers:
- N1 NVNWYN 2079237 AVINY 1937 99915 XN XINT 99Y U

13 One is not permitted to slaughter a parent and its child animal on the same day. The P09 in 113,25 (17%X) X1 reads

TR QP2 WA KD 132 DRI NN W R MW

14 One transgresses the 187 of 132 NR1 1NIX even if the ALY was a 7RI 7KW TN (it cannot be eaten).

15 It states mwnw by 112 NX1 MR (see footnote # 13) and it states 0 nw by 7 *0INw (see footnote # 9); just as the 7w nw

by Y11 0w is a 7MRT 71X U NY (one cannot eat Y "0INY), similarly the forbidden 7w nw by 112 nXY 1N is in effect

even if the v NWw of one of them was a 7K 7R VW (it was for instance a 79°70).

16 ywmw '3 (there in P2IM) maintains TV NY Y X? X7 APRY 70°nw, for he derives mwnw (by 112 nRY NMX) from 7maw

by no» and his brothers, where the 109 states in 10,3 (Y{%) n°wRI2 that 197 12w 72vY, and there it was a 7w AVNY,

since 70 and his brothers ate from it.

172" maintains it is preferable to derive oW from 7w nw (the same words) than v nw from 72w (different words),

even though the content is the same.

18 Regarding 'm '7 "m>wn the 7710 writes in 72,83 (2°0OWn) NAW; NOR O?W? 1R2 AWAT 17127 X MWy o i) i v 213 %2

Ty nop IRY vanR) 1w

19 The question is that just like by 132 nX1 1R we see that n"1 prefers to derive by using similar words (70°nw from

T nw), the same should apply to "M 7 that we should derive 7r°av from 7r°2v (similar words) and rule that only by a

XN A nw is there a 210 of "M "7, but not by a 7R ArRY A nw; why does n"7 maintain that there is '™ '7 even by a

IR APRY 0w ?!

20 This (772v7 AL NW) is not to be confused with MR 71RW 7w NW. A 77°2Y7 7N means one is prohibited from doing

the Y (even though that once it is AW it may be eaten), as opposed to a "X APRWY 70 NW, which may never be
3
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And one can say; that here we can say that it is preferable to derive a prohibited
oo (the 7w nw of 'M '7) from a prohibited 7w W (the nwnw of yn vInw) -

= NIN VINYN VINYD) 21N 1Y NONRY
For it is forbidden to him to steal and to slaughter, so we should derive it from
YIn S@Inw (which is also forbidden), even though that by one it states 7120 and by the other it

states nu nw; we would rather do that -
= 21495510 NOVINY NIAY 191 NIV NV NNV 93T PN

But not to derive 12w (of 7 '7), which is a forbidden v nw, from 3277 72w MY

(by no1°), which is a permissible 7w (even though the words 7mav and An°3v are more
similar than 7°2v and 7w nY) —

n9oIn responds to an anticipated difficulty:??
=192 NINY IMN VMYAT DIVN (ow) DTN MDD PI9I 19N YN RIT NI

And the reason the X773 did not answer in this manner in 2777 "19°2 795, because
by 112 NRY IMIN -

— 29551 NVINY (mwn vrw) NINY B N9%I0N NN DMYY DY
Occasionally he will be oMY the N9V first, so it is a 9’0 NVINY, therefore the X3 there

could not have said that he prefers to derive 77"y7 W (112 DX IMX) 77727 TVRIW (70 0NW), for it is
possible that 112 nXY 1MX will be a i nonw —

In summation; we would rather derive 10°X nu nw (‘M '7) from MOX NV MW (Y "0INY), even though the
words are not exactly the same, than to derive (‘77 '7) M0 nY Y from 7O, which is a "7 NYNY (even
though the words are the same). However, this does not apply to 112 nX1 10X since it is not always a nunw
MO,

eaten. The mv nw of v "vnw is both a 77°2y7 7Y W (one may not be Y112 VMY) and it is also a MK APRW 7V MY (after
it was Y72 LWl it may not be eaten).
21 By a "3 it is not (always) necessary to have the exact same words (as we know from 77577 827 17127 2w1). Therefore,
mooIn explains that we would rather have a "1 from two places where the content is the same (even though the words
are not the same) like '™ '7 720 from v "vINw (where they both are prohibited), than to have a w"1x where the words
are the same (like '™ "7 and 707°) but the content is not (for one is a MO°X7 1M°2v and the other a 72w of n°n.
22 The X3 in X,79 1211 asks why does 7" derive 112 DX 1K from 70 "0 to teach us that [aw 787 AR 7MW
v nw, when he could derive it from ;77720 of 701 (and a 71X 7KXW 7V Y would be 7w nw 7w WY). [The R answers
that he would rather derive munw from mu nw than deriving v nw from 77°2v.] Why did not the X3 answer (as Mson
explains here) that he would rather derive Mo>X from M0°X than 70°X from 017!
23 »"9 maintains that the prohibition of 132 NX) 1K is even if the transgression was done by a X1 71°Xw nu nw. For
example, he was vmw the parent, and then he was vmw the child, and it turned out that the child was a 719> and
therefore a X7 71RW v nw, and nevertheless it is MOX. However, it is possible that the first animal was a 7970 (a
TIRT APRY 70 nw), however at this point no transgression took place. The transgression will take place when he is
vmw the second animal a 707 7Y Nw. We cannot categorically say that 112 DXY 10X is a MOX N nw, for it could be a
e nonw (if we would assume 70w W X2 7R APRY 70nw [see ‘Thinking it over’]). However here by 'm '7 it is
always a 77°2v7 qUNWY.
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maoIn offers an alternate explanation why we do not derive "M 7 from 7017 fm20:
= 93902 97N XY NIV MAVI AN 23902 9ININ 9291 23902 9NN 937 12377 90D W T

And additionally, one can say that we can derive something ("7 '7) which was
stated in "3°0 (after 7710 10n) from something (Y717 *vInw) which was stated in 5199,

however the 2105 of 72w mM2awY was not said in 199, but rather it took place before n"» -
= 999NN NY DD RT DIVN 2951 DNN YN RYT XM

And the reason the X723 did not answer this, there in 77, is because it had other
answers —

In summation we prefer to derive (‘1 '7) n"n RS from (Y1 >0IW) "7 NKR?, than to derive from
before (7017 7M°2V) n'"7A, even though the words are more exact, and this answer can apply to MK
112 NRY as well.

mooIN asks:

- 2605AN5 BINN P37 PRI ZS0ONNND DINN 1937 9N (3,10 97 HINAYT /2 PID YA YD 1119
However, there is a difficulty, for the X713 in the beginning of the second 95 of
n3as Noon states, ¢’we would rather derive 231X from 251K, but we will not derive

2R from T°18; the X3 prefers °nx (of 7O1°) to 71X (of N1Y), since by O NN it is exactly the

same word as opposed to X —
= 93502 9N XY 1ININ DINN 7272y YUY D2IVWT 1) by 9N

Even though that the 705 of 2mIR 2o0R 272y WY 2% was not said in 5199, but
rather it is from before n"7», and previously N9on stated that we prefer to learn from after n"n
rather than from before n"» (even if the words are not exactly the same)?!

NDOIN answers:?’
— NVNY NNYT NNDT THa 925 1)’95"1 "2 91399 U

And one can say; since we already derived in one instance that 71X 7°RW 70 NWw

is considered a valid 7wnw, we derived this -
= 280191 D92 91999 93D W NN 29 920D NVINYN NVINY MNNT DIV 12 NN INMNA 5

24 See footnote # 21.

25 Regarding 012’ the 770 writes (in 7,75 [XXN] 2°727) "3 177 208 12w *2. We derive though a w"1a from the P10 (in

3,21 [yYpPn] nwR12) which states MR 258 7072y WY 21w, the just as by the 701 X they were brothers 28:7 1 (but not

O 11, the same applies by 012°; that the obligation is only by 2X;1 12 21X (but not by ax7 11 0°nX).

26 Regarding N the 770 writes (in 10,17 [*I0X] X1P) that 7230 X A8 nwR N1y, and the prohibition there is both if

he is his brother either aX:7 12 or oX 1.

27 mipon is seemingly changing his stance; before n"» and after n'"» is not strong enough to overpower the likeness of

the words (as seen by a°n¥ of 012°, where we disregard before n"» in favor of the same word a°nX). However, before

n"n and after n"n plays a role in a different manner.

28 Once we find in one place that 70w 7AW MR APRY 70Nw, we wish to follow this everywhere else, where it is
5
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For instance, by 112 nXY 1mR which we derived from 71 *01nw, because it is a W'
of M from wIMw, so therefore »''Y maintains that we should assume this

everywhere else that 70 nw 7w 787 APRY 70N, since we already established it by 112 X1 1M -
- VNV NNV M) NYNNI NYIIN MMIIYVYNI *0)

So therefore, by the payments of '/ '7 a 7K1 7°Rw 7w nw is also considered a
valid 7w even though the w"t will be 72w (‘M '7) from v nw (of yn >0Inw) —

MooIN anticipates the obvious difficulty:
= AN%AVN NNV NYNNY NYIIN IMDYUNA 9% NAIINT 9199190 XY

And we cannot say, on the contrary let us start from the other side, and derive the
payment of ' '7 through the " of An*av AM°2v (from 2w MawY by AOY, which are the same
words) -

— 233 NINY IINA 1911 NIN N1 AVINY NNY XY NN PRY NVINYY
That 758" 7KXW 7wnw is not considered a valid 7w and therefore we should

say that the same ruling applies to 112 NRY YMR and we should derive v nw from 2w
and assume that 7w 7AW WD MR TPRY 70N everywhere —

MBoIN responds

3053902 99NN 927 23502 NININ 92T PPITT XIAD 131 Y91 1Y NIINT 113 NNT
For since we can say this way (to first derive 112 nX) MK from 717 *0IMY), and this
other way (to first derive 'm '7 from n701°7 7M°2Y), logic dictates that we should
derive something which was stated in °1°0 (112 nX) 1NX) from something which

was said in 9% (7 *0Inw), rather than deriving 'm '7 which was said in *1°0 from 707 A2
which was not said in *1°0.

Summary
npoIN qualifies the meaning of 7w22 N7, and also offers various explanations why

n"7 maintains VY 72 7R 01PKRW 700w even by "M 7, where 17207 1s written.

Thinking it over

possible (albeit difficult) to derive it from 71 "0ITW.
29 There are two options here; we can start (as Mo0n suggested initially) with 132 X1 1MX and derive from P "W
(same word) that qu°nw anw 7181 71RW 70°Nw, and then continue by M '7 and derive nn v from v *vInw, that by '7
‘M we do not require a 7"X1 7VMW; or we can start by deriving 720 of M '7 from 77720 of 7O (same word), and
establish that we require a X7 7N, and then say that the same applies to 112 X1 1NIX that we derive it from 77°2Y
noY7 and it needs to be a 7”& v Y. How can we decide from where to start.
30 The concept of n'"n *10% and n"» NR? does not overpower anything; only where there are two equal choices, it tells
us that it is preferable to derive n"n R from n"n AR (but not n"» MK from n"n *199).
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nvoIN writes that by 112 NXY AN, it is not always a 7 nw of MOX, for if the first one
was a 1719°70 (no MoKk was done yet), so by the second one there is no MO W "YW
(presumably because since the first one was a "X7 71X 70NAW, there is no NXY NN
13, if we assume TLNW AW XY TR AR q0nw).}! According to this, in a case
where he was vmw the 757 first, why indeed do we not derive 112 nX) 10X from
N7 P2 (and AVIAW 7AW XY IR TPRY "0AW, so there will be no MOR), since they
are both a 70> nvnw; why indeed does n"1 insist that (in all cases) we derive 1NIX
112 X1 from Y nwnw?! 3

31 See footnote # 23.
32 See 117117 'O X, A0 79I (IRT) KW,
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